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Question I: Choose the correct answer
. . . dsy dzy ay\e .
(1) The differential equation xy s+ Jx+ Yt (E) = 0 is of

(a) order 5and nonlinear  (b) order 6 and nonlinear (c) order 5 and linear (d) None of the previous

(2) The value of k that makes k(y? + 2x)dx + (4y — 6xy) dy = 0 exact is

@ —6 (b) 6 (c) -3 (d) None of the previous

3) The function f(x,y) = yx2xy

is homogeneous of degree
x5+ytx g g

(a) 4 (b) —4 (©) _79 (d) None of the previous

o solve the differential equation x —= + 5y = 9x“y~“ we use the substitution
4) To solve the differential equation x 2 + 5y = 9x?y~2 the substitut

(@ u=y3 b)yu=y3 (c) u= yTz (d) None of the previous

1 4X
(5) The one parameter family of solutions for Z—i’ =y2—4isy = 2(1:2“). The solution y = 2 for this differential

equationisa

(a) trivial solution  (b) member of the family of solutions (c) singular solution (d) None of the previous



Question 11: A. Determine the region of the xy — plane for which the differential equation has a unique solution

Y in(y + 2
2 = xin(y +2)

B. Find the integrating factor for the following linear differential equation
xdy + (3+ 3y —x)dx = 0.



Question I11: A. Solve the following differential equations:

1.
(xy? — cosxsinx)dx + y(x> —1)dy =0

Wb_ +2)+1
dx_an(y x+2)



B. Solve the Initial VValue Problem
xdx + (y — 2x)dy =0, y(1) = 0.

Good Luck ©



